ITHREERRE T HR R ERRE K%

i Al T
= %szj %% (& G
L HT il

)
p—>
TR

S=1/25, 000

<ZOHKIE, E R R ORARES T, RFERITOEE X
200000 (i1 {42) K O H[X125000 (i X i ) 248 5L 7=,
DThHD, UKRF R F213EE, H143%5)

& 1817 5 15 65
ng /\ \/r | i e A

; n ===

BRRZNDER [SERMORRE
X 3 #FHE S|H#1020-1
X i % [mD
3l = Hh | mERFFAR RN TR A B HT A

v
I
l

VLI

BEIZLD D DRANE (KN/m?) 165.0
BIHsnmXK(M) 1.0
HFEIZL D DR AIE (KN/m?) 21.6
HiEaDHEAK(m) 43

|

ITHREERRSE

TREOESEIAIMUTOES.
TEEDBEHICLDHHA100KN/m2E#E 7 5K E

B

R A E X A

TEREDOHBEDEIAIMEBZ SR

ENLSN ORI

%y

v

Nz

0 50

$=1/2, 500

AR T




